1104 & $4 2 B WA (47t 45

i IO

P o 2

T~

¢ EAREII0E0L? 01p 422110067 30

H =

P

27 iﬂ;’r’s.;b
PRV V-5 R N € SF N I S
BAT ;;: R R zjig‘*_ﬁ];g
1iEFESR B MR A it $t % ER L &gy | FEIL Aot
AEREH | B2AFR | gy | SRR .
£ | #wmd s BARERE
BEFRAEFEED A (29T 2 e AT (551 Ry BR2021 s ATR [§) 1 B BRa ATAE | R ¥3% 98,0001 & 2
S AR 2 ﬁ%ﬁ” SRR ¥k R E N wH R E
EEdmaffEia— (2ot L gyam(110E 5 M B RATE A (551 R Bop ¢ B ¥ 16, 000 16,0001 & 8
SH AR 2 BR EIEE RS SDEN
EEFma g g n o (oo R g (11088 RMFRAMTIY [ By BB ¢ (B E5 20, 000 20,000 & £
SH AR 2 BER 15L& & S35 F8 )%
PR ma g E e A (o R (1108 BEMALTINA [ By Bmp ¢ (B E5% 20, 000 20,000 & 2
SHAMA 2 BE FLER SV RFEERNR
ALFTEFEAL € F B crRA B g AL E(N0ERFEFE e [y RS B L [Arcdk 20,000] & A
SRS ADEN 1
AFCE AR AL € 3 B cAAE ey BWpEsk s € (1108 Ry BROWE |5 Fhy Beskin ¢ |Abrcsk 62,000 = L
FADEE: 2530 0 B8 ADEN
A gk Tk § B DA E AL F (P T M REE (M RE LT Atk 40, 000 40,000 & 2
P 2: DEN &
A FTEI-A ¢ E B crA b e AL R (1108 R E BN 2 474878 |§) 1 iy By a4k [Rrcsk 30, 000 30,000 =& A
DR wHEERE
HEHEEE AR R i ,ﬁm % PEE(110# b FARLORTES |5 1 Fhyg B E AL A5k 20,0001 = A
# 8L AT B AT FHEEREE
AT R B AR B FARA 2 YL B AT PR (2 E DG ~B FME 5 |31 B BB AL [Arcek 20,000{ =& £
B AT B AR R
A B ARE SR RATRA B 3 ATAR R PRE () 1 R BR2021 e |F) R BARe ATAL |Abrcik 200, 000f s £
TR A s B E ) T B E
AR AR F B FARAT B PRI & AL % (RTE 205 -B 5B & F (4 By B & A [Rrcsk 20,000{ & . &
B ) A% FH B E
¥1F




i IO
110# B =% BRI (g7 P md

PEREII0E01 01 p A2 1102067 30P i ard i~
oL EES N ek g e by
B T eaiinre B R M
2 HE R | v A F R
SR T AESE N R A4 4 3PS M E\.»j}‘ﬁ- REI] o Aok
AEgH | BIAER | g | OF 2 5
&3 | PEH A FARFRP)|
AT B AR B BARAT B R AL E (R AR A F B S RIR [§)1 Biy BE A Rk 20,000 & 2
=3 v F ‘Z&’FT‘Z’%
AR E AR B RARPRE B PHL A T AL S (R BB ) |§ 0 By RN T AL |k 20,000{ & Ly
T @Ffllg
MR R AR TR PARAT B T RAL T (£ £ D5 -8 F B 5 5) LAY BORETRAL [ALrcik 20,000] & A
EvS SP sﬁ"ﬁf;‘g
AT R AT B BARPT 2 4§ AR (S fhac (T E-E B R T |50 B RN AL |tk 20,000| £
FEEHEERFHM WE B E
AT R B AL R F B PARAT R, 3 ATAL R (L EacH -R FHE 5 0) [§51 5y B e ATak |Abrcek 20,000 =& 2
Ey \fv ;}/’wag
AR E BT R mi}':]‘ﬁ" Bai®(2EDF-BEMELH) |§0 MY RAY A (BRI 20,000 = &
7’r-}\ ff\? @FT""g
AT B ALR R B ,T,*Fﬂﬂ")uéﬂr* F(AEKAFLETEFHER [§)0 5y B SEAE [Rrck 20,000 & =
% x/rﬁ">—r}\ ?P);}b%]"‘;g
AT B AT R R RARAT S 2 B R (£ 205 -BFME5m) |50 Ry B2 fab sk 20,000) &= L
# T?m}‘FT%g
AT B ALR R B BARAT B 2 FAE R (k& R BRI HFEp T “ Biyt MR BAE ARrcik 20,000 & =
,Efw__a_ %’/rf”)n}\ ?r ?}f;f«ﬁg
R B AL R F B R B AT AR (AT B EHME SR [0 my BT [k 20,000 & £
%ﬁfﬁg
At T fF AT B E it f‘J‘Z@L BAF A AL fv( j’i%‘”ﬁ%g :‘?ZEF 'R it m:i’?’ﬁ @ AL ﬁiﬁi;ﬁt 20, 000 H TFI-L
P DE ?v HREEE
AR E AR B AR R, X TR (2 20 -B 5 BE5H) |§ My B T sk 20,000 = A
# EE LK

X
Do
=




i IO
1104 A % B WA ()0t 45 3

P £

¢ EAREII0E0L? 01p 422110067 30

H =

P

LT
KeH b 1B 1 il I S
: . . 2|7 *;}%?iﬂl EEEEN L
1ERERE LA HAEA S e BT oy | PR
AERH | BIAER | gy E\FJ{;%%’E;: . 5
&9F P A AEERRF)|
TR AR SR RO BS AT R AL (2 & 405 - 5 BHE 5 5) |37 By BIRATRAL [Abrcg 20,000] & 2
=7y wH R E
mEEEALE SR Rt es o Al % (£ 2 0% - R MEFME LR 3B R Ak 20,0000 & L
F & &K it ,pMisp R E
R EALE T E BRIt b B H AL (2 £ D5 B F )40 CRAH BT B AL |Ark 20,000 =& A
SP R 1 ﬁ
R AL R o rﬂﬂj’”‘ R (R EERATE EE B Ry BASARAL Ak 20,000 & 7
AT EAAw TR B er g AL T (Fe0ATH LT WA Ry By BAL Ak 20,000 & s
SP R 1 ﬁ
AL R AT AR FARpAT s AT AR (R T HF R ~ B BIFDAR CRAy BRI AL ARk 20,000 & 7
;‘f“fwé
AT B AR R B e AL T (1108 € AR R BEATARR [§) 1 By B HAL Rk 20,000 & g
mﬂ/rf”)w)\ Z‘?’F]L‘ﬁ‘g
REFRAFER FRRpt e AL T (B2 247 2 B B & 7280 4] 1 Ry RO IRAL [ibsci 20,000 Z
#x Tfpéff%f;zg
AR B AT B BT R (F 47 % Do 2B AR5  S B sk 15,000 #& g
e ‘gp R E
AT B R AL R DA e BAAE (BT SR Y FR)I CEA B Ra AR [Abriik 20, 000 20,000 & g2
;\Ff‘ﬁé
MR EE AR E BERAT B2 R AL T (BB R &~ T B ECOL € )| 1 By BN B Ak 20, 000 20,000| & 7
&S a%@ﬁg
HHEEEAAER B FARpA e X A R (2T R AT RS P LA B AL ok 20, 000 20,000 = 7
FIDIV# 5 48) 4 ?Ffﬁg

Y
w
b




i I

110-# A& 4= B B 4EAF (JF) 22 5§ P fm &
* % 1104017 019 43 11042067 30 p PP,
i ST S
TEREPD B AR g it 24 4 % SR iijj; AR e |
AERH | BIRER | | ARRECG
£ | PEHAEE EAE ARG
G RCEE LS B 24 8 ALK (£ 0f B~ T B8 T |RER SRR s 20, 000 20,000( & L
ol SE FRE AL Er R ‘rv‘g

rEEEALRE R RARA 20 Bt AL T (£ 2 0% B H M F ) |51 R BN AL ATk 20, 000 20,0000 & L
X w"HEREREE

BRERALREE ’“WW R A F (2021 A Bt WA T 5 B B A |tk 20, 000 20,000 & 3
BEH - RBFRDAZ s”;\)"]kﬁ«g

AH R R Rt o 3 Ak ® (3§ e AT §50 R RINE L [itsek 15, 000 15,000 & 2
??Fwa

AR R AT E PR B RAE (R R R H R )5 $0 g s RAL Ak 15, 000 150000 & 2
SP R 1 ﬁ

ERFEALRERE RO LB AR Q02187 g B AT R |50 R R R AL Ak 20,0000 20,000 %
S ) ?FT%Q

HREECLREE R R E G BRI R\ R B R i 60,000 60,000 & £
D EN §F B 6

REEFEALRER ST RARRSAR (AT REE RN TR RIRAL ek 20, 000 20,000 £
BEBTEFE T E)XK Z‘Ffwé

ERE R R . FT** 0% JARE (Mol BN R (1 R B AL Abrk 20, 000 20,000 & 2
AR SRS % Mr«ﬁg

R R & fT‘* 00z AR (&2 BEH AR TATE)|8) 1 py Bamz g stk 20, 000 20,000 & 3
" ?Fﬁé

AT R AR XA ARAL S (LT R Y B R BIRATRAL [ 20, 000 20,000 & L
pafwg

MREREALFER R 3 AL (8 R ERATR S CR BT A ik 15,000 15,000 & z
?Fﬁg

3
=~
=




i I

1104 A& $+3 B B4 GOS8 P
¢ 2 F1104017 01p 422 1104067 30 p o g
RSN 2 F(dek| 2 Loek v X
R LT D i
TR HBET L i e ey oy | FEI Aok
AR | ETAER gy | SPRECGEL
a9 | vHAeR EARHRRE)|
WEFEALRFRE R 2 AR (O L E A DR R 4 ok 20,000 20,000 & T
sF@\Ff%«g
R AL R RO 24 2 FAL | (% RICFD) AR R BN AL [Rrck 15,000 15,000 & £
?rﬁg
REEEARER O RAe S BRRESF SR R RN AL Tk 15, 000 15,000 Z
SP ?F]L ﬁ
REHERTEE B L R AELGES ¢ R AR R B i |tk a0.000| 20,000 N
THEERE
EEERRER RARCH 0 47 RAL T R (5 104 0 R TAL S | 1 RAY B Rk Lo 20, 000 20,000 & 3
AT B)% R
EFRERALTER FRRRAT o 47 RAL T I (S 102 557 S F (50 R By R |irck 15, 000 15,000 & L
ZrEPpAETE)K ?p;bff%g
AT R AR R Rt v X SRR PHL L E 402 Tl i BAAT 471 B BOmA S sk 20, 000 20,000] & a
[ DEN BH B
EFRERALTER FRRPAT 28 2 AL T 7402 (X 4R S 13558 47 504 1 Bp B s it b 15, 000 15,000 & L
" EE LK
AR R AT TR R R BT RAL R PRI (B 5 4 B IR B) |45 R RS RAL [tk 20, 000 20,000 & £
#* BHEEE
BERERALREE FARpH 243 5 A% (110 R o B84 247450 (4] 1 B Bosaf A [4bscike 20, 000 20,000 & 3
LDE T ;\F]a,‘,g
ARFREALREE R R ATRAL R (R R YRR H R BT KL [k 20,0000 20,0000 # £
pafwg
AHF R AR R E FARAT B2 L Ak % (R s8R 51) 40 B BT bR |ALrcik 15. 000 15,000 & T
?Fﬁg

X
(@]
=)




i IO

110# & %% B B A4 (30D R0 3 B dm &
P EXEIIOAEQOL? 01p 422 110#06% 30p H oo A R
PRV V-5 R N € SF N I S
AR ;;: ﬁﬁ?;ﬂ'l*‘ ia\g@g
1P R L HOERAT e R ER sl &gy | FEIL Aot
AERH | BLAFR | e [TEEFRCF 5
&3 | PEH A FARFRP)|
AT B A TE R B FAT B 8 AL ?v(f“-)*%‘l#"‘ E%E TR )[R RN EAL Arck 20,000 20,000 =& 2
ETN % F R ‘g
AR EAATES B FARPATEY % 3 A% (AR 1 ~ € i B q}’L%ﬂiﬁ‘EﬁfH oA AR 150, 000 150,000 = i
?Ffa
MR R AR TR FFAT B2 Bt AL e (U2 B 5 354545~ A& CERM BORERS AL ATk 20,000 20,000 =& A
REFED RE T )X &@ng
MHEHEREAATES B BARAT B2 X At (P42 450, 5 € '\&T)ﬁ‘k CRAH BORR AR [Arck 20,000 20,0001 = g
?Fﬁa
AT B AT B Bt 2 T dr RO E (1108 A 4 B 584 Rk |35 1 Rhy B 84 R [rcik 14,120 14,120 & £
FHRIRE AR RS RA T E)K Sw}””f*ﬁﬁ
AR BE R A AL B 2L (E R AL IR < R LR R L |Abrok 90,000 i £
THEREAZ XA BRAICE T2k DEN ?Fﬁé
a’* TR BEAZRE AL B PR RAR R (R AR O IR CRAE T R AL [Alpcik 90, 000 90,000 =& A
HHEREAZ R CDES ?th
4* FHBEAZRE AL B PR T PR (RAEM IR LW R B A R B Ak 70, 000 70,000 = g
BRBEAE KRG S EN 21’-'36‘%’]7&7&1”“1‘%3
AERFRERZ KA AL (B e 2 FAT (110 X AR FH Y SRR BRI 2L [k 90, 000 90,000 =& A
FRBEAE KRG R }\R.”F‘iﬁ‘\"j Ch S DEN ‘Su;”"f‘*ﬁ
4" FHEBEAZ ARG AL B B AR EA R RAER SR SRR CRRH BRI Ak 90, 000 90,000 = i
FHEBREAZ R CDEN ?Fﬁé
AHRFRBEAZ RGAL (R B LR (FE Y S 3 MR ERRE CRRH T ATk 90, 000 90,000 =& T
BHEBEAE KA ®)% ‘&aﬂ"#ﬁﬁ
yasgg“aa%%L%ﬁﬁyﬁﬁﬂaujﬁﬁﬂwmmxﬂﬂ “ By BORy WA Ak 30, 000 30,000 =& 2
R EEAZ KA }‘Ffwé

N
o
=




i IO
110# B =% BRI (g7 P md

¢ EXEII0E01? 0l A2 110£067 30P H oot 574 %A
- ; Yo [ (A BE L
HAAE ;;: R R R ?\ia\g@ﬁ
TEEESR A HO R e g R wy| TR 8
£57 B EAT *Eﬂg'%f%%&ra) -~
mfsu BAER AR AR R 0 PRI AT AR T (1102 A3 R 0mar AR |3) 1 Bl Rm 4w fad | Akresks 48, 000 48,000 L
RERR KA F B R GR LR KOE K ‘%‘L%)‘r}\ ;\f‘f;ﬁ«g
54- T % P E ?—:;ﬂ‘z‘ F/Li‘% A+ | Rk FI‘Z‘?’ Bs 43 1137H' T (‘g}\ pﬁa‘a;;'g)};k :‘?; L %ﬁiﬁaﬁﬁ;ﬂ_&; ";7&'_ 7&‘]}:(;% 70’ 000 70’ 000 P {
FEEEARRA TEERE

1,468, 120] 2,413,120

B

D
>~
1_
3
1_
"y
>~
P
N\
i
|
N
bl

s
-3
=




